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.

I. The first woman president of the india.n National Congress
was : .
(A) Annie Besant (B) Sarojini Naidu
- (C) Nellie Sengupta (D) Aruna Asaf Alj
02 Accordmg to Economic Survey of 2007-08, Indla s largest trade
~ partner is- . '
- (A) USA 3 (B) Russia
(C) China .= (D) Great Britain
\ 3. Which of the following atoms has no neutron in the nugcleus?
| (A) Nitrogen (B) ‘Hydrogen
(C) Helium N (D) Neon

" 4. The authdr of the drama, Nildarpan was :
(A) Michael Madhusudan Dutt
~(B) Dinabandhu Mitra
~ (C)- Dwijendra Lal Roy
(D) Girish Chandra Ghogh
5. A rectangular court 60 metres Iohg and 40 metre broad has
wnthm it a path 2 thetre wide round it. The area of the path

is : :
(A) 3'48,sq.mg ~ (B) 384 sq.m
(C) 380 sqm - - (D) 388 sq.m

6. Which of the following is not a part of Indo-US Ne\t Steps

in Strateglc Partnership? A |
(A) High Tech tradc (B) Missile Defcnce

(C). Space Co-operation (D} Aids prevention

- 7. The perimeter of a square equal in ai ' to two squares whose

Sides are 8 m and 15 m respectivety in -length is :



—

34 m
T (A) 17 m EBD)) ;89 g
tic ener
| gt(":)tl 68v2:ocity of a particle in doubled lts kine gy’
3. e _ e
" becomes : | i ‘ :
k (B) Four times .
Eéz ?1:‘? A (D) One-fourth | -
9. Who was known as the mother of ]ndlan revolutionaries?’
(A) Sister Nivedita (B) Madamt.% .'Cama
(C) Annie Besant (D) Matangini Hazra

10. First Indian Wicketkeeper to lead a Test Team 1s :
(A) S. Kirmani (B) F. Engineer a
' (C) K. More . (D) M. S. Dhoni =~ - Q
I1. When the angle of incidence is equal to the critical anﬂe@

" angle of refraction is : “
(A) 0° (B) 00°

©) 30° - (D) 45°

12. The principal that will amount to Rs. @ syears a
12% per annum is :

(A) Rs. 900
L) Rs. 1100 1700-‘

2. The Deccan- Trap IS mad
- (A) Basalt Xﬁ) C:r'lmte
(C) Gneiss \‘S\ D) Laterite
fo Rs

14. In article is

1350 at a loss of Rs, 150 Find tl
loss a
(A)s{ﬁ S B % ‘
(€) 1 DY NY%

I5. The team Lahore Badshahs
(A) Imran Farhat

- (C) Shoaib Malik

in ICL "was led b
'« (B) Shahid- Afridi

(D). lnzamam-ul-Haq
16. Find the fraction which is

3

as much greater than % as is le
‘than = .
an g



o)

' | (D) Tabl
- 21. Chhotanagpur is a —— platea 5
~ (A) Intermontare ch
g ava
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g I
| B) 16
11
© 1 | (D) }%
17, The,migrating sand dunes of the Thar Desert are called
(A) Marusthalj (B) Barkhan
(C) Dhrian (D) Seif |
18. The _Ieagt number of 4 digits which is perfect square is :
(A) 10000 ~ (B) 1042 »
(C) 1024 (D) 100
19

. The amount from Rs. 200 for 3

. years at | paise per rupee Q
per 'month interest is : | %
(A) Rs. 200

- ‘ (B) Rs. 72
L (C) Rs. 272 (D) Rs. 250 .
20. Agha Khan Cup is given in -

. .(A) Chess’ (B) Hockey ‘
(C) Football

(©) Desert

22. lnterest on &o%ms 6 months at 74 % per annum

A) - (B) Rs. 70
(D) Rs. 80

S allest number by which 486 is to be multiplied to make

23.
- the product ‘a perfect square is :

2 (A) 2 ' . (B) 3.
£ 24, The numbel of ooodIucI\ dolls formmg the Beumg Olympnc '
- Mascot 1s : -
C(A) 2 (B) 4

(Cy5 - Wiin &0 L e (D) T2
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-95. The Commercial Capital of lnd[l)a l;fl | - i
(A) Mumbai (B) Le _
(D) Chennali
(5] ool ate of interest per anny
26. A sum of money doubles itself, the 1 . m
being 12%. The time is :
(A) 8 years ‘(B) 8—% yearsi
(©) 8% years (D) 8% years
27. The Narmada rises in the : ' _.
(A) Satpuras | - (B) Mahadev Hills~ " 2 -
(C) Amarkantak (D) Mahendragiri C
28. The sum lent at 5% interest p.a. will produce 1 rupee interes
a day is :

(A) Rs. 7300 . . (B) Rs. 7030 @‘
. (C) Rs.'7003 - (D) Rs. 7303 v
29. The only cncketer awarded Rajiv Gandhi

(A) ‘Sunil Gavaskar (B) Kapil Dev %

(C) Rahul Dr'wnd - (D) Sachin

30. — is a gap in the Sahyadns
(A) Palghat -
(C) Westerin Ghat an Ghat
31. ‘The number multlplled b wnll gave 172225 IS :
(A) 400 | +(B) 415 L
(C) 420 ¥ Dy42s -
32. The largest @ number which is exactly dii/isible by 135
IS : L _
(A) 9 (B) 9099
(C) 9990 "~ (D) 9009

33. Who among the- following is f'unous asl the “Tragedy Queen’
of Indian cinema? -

(A) Madhuvbala . (B) 'Rekha
(C) Mina Kumari (D) Hema Malini

A Y v w———
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,134. Regur soil is rich in : -

(A) Lime 5
' - | (B) Humus-
(C) Iron A (D) Salt

interest is

(A 1%, (B 125%
(€) 1:30% 2 - (D) 1-75%

+36. The smallest whole number by which g—g— should‘b'e multiplied

50 that the product is a fraction -which is a perfect square

2 R
(A) 370w -~ (B) s
<) 7 (D) 9 |
'37. Mallika Sarabhai is associated with which of the fo i
fields? LR : < \
(A) Social Service (B) Classical Music
. (O ~Class'ical Dance (D) Sports : Q :
38 Simplify @
. \_"]_ O | % |
‘ £ gl ‘
| . 0 -
I—x * .
(A) 1 y 0
‘ 1 + x

(B) Coimbatore
- (D) Mysore
han is associated with which of the following

- musical instruments?
- (A) Violin - (B) Sitar
~ (C) Veena (D) Sarod

" 41. Time ‘taken by a train of length 120 m moving with a speed

of 60 km/hr to cross a bridge of length 330 m is :
(A) 20 sec (B) 24 sec |
S (©C) 27.sect "~ (D) 30 sec
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their .differeqqe =
: . 7’ and

in the ratio 4 :

bers are :

42, Two num

i
18. the greater number is (B) i | ’
© ::21 | t) Z\the iﬁdustry. ‘
.43. :(‘\Cr:iﬂ;ial fibres are pro,duct;) )OfJUte | |
(A) Cottoy Weaving (
©) sik

(D) Petro-chemical

: = and | <
44. The L.Cwm. and G.CM™m. of two numbersgafe 5 v
44, ‘ s | \
1S 6 the Otly
respectivel}. If reciprocal of one Number g 64 ;
- Numbey Will pe T =L @
16 B | _ “
A ® | é w
45, K’amal l—laSai1 i

is associated With . @
(A) Filmg (B) Mu% b
(Q) Edlication o
46. . a b]

(1 Y ¢
Persong " finisp Pie Ok i g da Workine
S a day Umbg, Fe Qwho Wil] Mish that-wo k
days King g trs g Y ois . "
(A) 7 * Byg .
(C). 9 | (D) 10
47, Indig:g gmﬂca belr g foung in .
A '} ;T ‘
EC;‘@I | (B) Rakha-'hills
“Ma (D) g atshj)
48, The ratjg Clwee, Ma| and fy, | la
. Sy l there are § Cmgle t e t‘eac N " SChOO[
Uumpe tea hers Sin e § Ool, the ¢
(A) 35 f
(©) 7 ) 6s
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i ;__v|layat Khan is associated with : :

(A) Painting - (B) Classical Vocal Musnc

,,-f‘—-(C) Light Music (D) Instrumental Music

50, Hugo Chavez is the President of : -

- (A) Nicaragua (B) Brazil

. (C) Venezuela " (D) Colombia

1. In a camp, there was sufficient food for 250 students to last
for 18 days. Find how long the food last if 50 additional students-

_join the camp?

b .

\e§  (A) 15 days ~(B) 12 days T

' ~ (C) 16 days (D) 20 days o Q‘
i 52. The product of two numbers is 45 'md the sum ovf their sgu s@
s 106. The numbers are’ %

Ay s, T (B)-3, 15
b (C) 4501 | (D) 12, 4
| 53. Other than the Samjhauta Express. th% at Imks lncha

" .and Pakistan is :
- (A) Thar Express , 0
+ (B) Moitree Express \
i (C) Delhi- lslamaba@esﬁ
(D) None of® '

54. Urea is synthesi HinLs -
(A) Liver ¥ (B) Spleen
" (C) Heart ¥ - (D) Stomach,

55. A, B and C individually can do a work in 6 days, 8 days
and 12 days res_pectlvely.'lfthey work together. they will finish

- the work in :

- (A) ot days (B) 3% days

O 3% days (D) 2—%— days
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alone Woy |,
do a work in 4 days. :Bﬂl one tq}\d
L 1 ll| a N < Q
P togethlef’ c?t How much time wo
take 6 days tq 0 it
* to do the same work? (B_) ains
(A) 8 days :
(C) 12 days (D)‘ 14lda¥_\
Cauvery River water dispute involves :
(A) Karnataka and Tamil Nady
" (B) Kerala and‘_ Andhra Pradesh

(C) Tamil Nadu apg Andhra Pradesh

M 3 cm are joineq toge single longeg 'H
| thi:; single string is divideq into 12 qual piecegs gth of
cach piece i : |
r (A) 20 m e (B) 20-] @
; €) 203 | (D)2 % |
59, Glomery|ys IS present in : %
(A) Nephridia . ®

ephron
(C) Liver \) Pancreas.
£460. A travelled s Km | h(ﬁxr

* Distance trave]leq by him in ;5
Minutes g :
(A) 416 @ - (B) 04166
(C) 4y m . (D) 4166-7 m
5. Gork nmukt;

Morc)y
(A) Subhag Ghishing

- (B) Viniay 4Mmang
(C) Bimgl Gurung - (D) Prashan Tarnang
2f If 45 is subtracted from S lineg a nﬁ be
10 e Numbe, is -
) 145
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IR etan
63. The greatest number of 3 dlgltb which is exactly dwns:ble by

28 and 40 is :
(A) 999 B '(B) 100
(C) 1094 | (D) 840 .
' 64. The Indian to score highest run in an innings of a Test Match
is 1 ' ‘ | ‘
(A) Sunil Gavaskar (B) Sachin Tandulkar

. (C) Virendra Sehwag (D) Rahul Dravid
65. A can finish a work in 12 days and B does it in 10 days
-A and B, working togethel, can finish 5 times the work

in :
(A)- 20 days . ®B) -20-23— days
(C) 252“— days (D) 27” days
| 66. In which bhaSe of mitotic cell division sist€® chromatids are_
separated? | A
(A) Prophase (B) WMetaphase
(C) Anaphase - - _ (D)~J eiophase

67. Apart from Tibet, in whicht%efithe following provinces of China
the Tibetans are se&led?
(A) Qinghai r . (B) Gansu .
; (C) Yunnén : , (_D) All of the above
68. Averagédaily ticome of 8 men is Rs. 13-20 and that of another
~ group of 14 men is Rs. 12:10. The average daily income of
~ these 22 men is : = ' ’ |
~ (A), Rs. 12 © (B) Rs. 12:50"
(C) Rs. 3 (D) Rs. 1325
69. A typist types 70 pages in 3 hours 30 minutes. How long will
L3 she take to type 300 pages?
(A) 12 hours ~  (B) 14 hours
- (C) 15 hours . ; (D) 16 hours
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70. The Bangla film Anurana

71.

72.

73.

74.

75.

76.

77..1

(A) Voldemort

N ’is' directed by :_ ks
(A) Aniruddha Roy Choudhury

(B) Rituporno Ghosh

(C) Sandip Ray | )
(D) Aparna Sen i RS 2o
15 men earn Rs. 630 in 12 days 4 men Wi

in : - | -

(A) 6 days - (B) 8 days

Product of two numbers Is 4032 and thelr H.CF. is 12. Then Q
L.C. M IS : ,

(A) 330 - ~ (B) 340 @‘
©) 336 | - (D) 346

Value of V3 s T g e N

(A) 1372 i " (B) 1273 : Q

© t92 (D) 1-700 E@ A

(B) Dumbledore - R O

(C) Ron Weasley :

(D) Hagrid N

25 men can d; ond 12

2 m long, in 20 days. Iy 25 d
21 ‘m@ an be dug by . LY M
(A) 3q B) 32 B AL
(©) 335 mey’ (0 39 T

riptiong?
(C) James Pi?: | Eg; Wi
4 ‘ ._ arles wijj. :
! the mean of |5 8, x, 14, A \iZ”]kﬁmsf‘ d th \ l
| _. , > 1INd, the va|ye
(A) 8 | .
©) 10 Pk
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78.“W|"4t fraction is 270 gm of 3 ki‘logram?
i | ?
A) 39
( -570 = By 100
© =
50 (D) 80

79. 6 men can unload coal from one truck in 5 hours. Number
of hours taken‘ by 15 men to unload coal from 3 trucks

AL :
(A) 4 hours .- (B) 6 hours
| - (C) 8 hours . (D) 10 hours

80. What was the name of the son of Gautam Buddha?

‘,:.;(A) Rahul . (B) Ananda

- (C) Upali - (D) Mahendra :

81. 25 gms NaCl is present in 250 ml solution. The percen '

‘ strength of the solution is :. < \
(A) 11:1% (B) 9% :

T

©(C) 48 m

(© 1% (D) 25% Q
82. What per cent lS 26 seconds of 6 min e@e onds?
B (A) 6% 7o -(B) 659%

© 6w
83, Value of 81 x4

(AY w@ \

AC) 9 sy Dt (D) 009 |
84. Who, composed the Allahabad Prasasti of Samudraoupta?
(A) Harisena (B) Kalidas ' .

" (C) Bijaygupta " (D) Basubandhu

85. Length of fencing requnred to fence a square f'el
square metre s
S (A) 2 m

(B) -009'

d of 441

.(B)‘84 m
- (D) 24 m




-._J

87.

88.

89.

90.

91.

92.

-

(C) H, N—CH,— (D)

If 2:5% of a number is 13, the number is -
(A) 500 (B) 550

(© 60 | & o trol. market and
Which Delhi Sultan adopte ( - C

prices? . . B, ‘ o
.(A) Ttutmish’ ' | . 2] @

Find the number which when inc:.'eased by

(B) Balban :
(C) Alauddin Khalji o “
(D) Muhammad Bin Tughlaq ' g
39: - ®< \
(A) 30 (B) 32 6

(D)\O

(C) 34
y-ray is : . Qg | o
‘(A) A stream of positive ed particles

(B) Electro-magneti
(C) A strea

(D) Non
The@ of voters in a town is 120 000. Out of them,
75% g poll for an election between A and B. If B gets

45% of the votes polled, the votes polled for A is :

(A) 49,500 (B) 47,000
. (C) 49,000 - (D) 47,900

Who introduced the Kabuliyat and Patta system?
(A) Alauddin Khalji (B) Sher Shah

. (C) Akbar (D) Aurangzeb
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93. T

94.

95.

96.

The circumference of a steam roller is 2 metres and it is. 6
decimetres wide. Ground passed over by the roller in 120
complete revolutions is :

(A) 140 sq.m “(B) 144 sq.m

(C) 148 sq.m ) (D) 160 sq.m

A body of mass 25 kg is acted upon by a force to produce
an acceleration of 5 m/sec?. The force is :

(A) 125 Newton - (B) 5 Newton

(C) 125 dyne (D) 100 Newton

12% of a money is Rs. 63. What is 40% of the money?
(A) Rs. 200 . (B) Rs. 210

(C) Rs. 220 (D) Rs. 230

A shop-keeper buys three articles for Rs. 375, Rs. 580 and
Rs. 428. He is able to sell these articles for Rs. 436, Bs.
635 and Rs. 350 respectively. The loss or cIaln to the shop—
keeper on the whole is :

- (A) Gain Rs. 40 (B) Loss Rs. 40

- 97.

(C) Gain Rs. 38 (D) Loss Rs. 389

The founder of the Husain Shahi dypasty gn Bengal was :
(A) Husain Shah

(B) Nusrat Shah

"(C) Ghi yas—uddm -Mahniud Shdh |

= (D} Raja Ganesh

98

.99

A piece of cloth isg245 m long How many pieces; each of
length 1-75 m €an beveut from it? .

(A) 14 o TN\ - (B) 15

€) 16\ W (D) 17

A flogist bought 240 roses at Rs. 9 per dozen. If he sold all

- of them at Re. |. each his profit percentage is :

100.

(A) 33—% Ly A (B) 335%

© BIn D 33%%

The. author of Ain-i-Akbari was :
(A) Akbar (B) Abul Fazal

(C) Faizi - (D) Jahangir
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ANSWER )

L. (A), 2. (0), | 3.(B), - 4.(B), 5.(B),

6. (B),  7.(Q). 8.(B), " 9.(B),. 10.(A),
I..(B), 12. B), 13 (A), 14.(C), 15. (D),
6.0, 170, 18.©).  19.(B), 20 (B), |
2. (B 22.(0), 23 (D). 24 (C) 25 AR\
_26- (B). 27. (0), 28. (A),  29. (D), 30.3(8,);
31. (B), 32, (C), 33. (C),  34. (A)_ 359.i.("A),
36. (A),  37.(A), . - 33 (A). 39 6B *40. (D),
41. (C),  42.(B),  43. (D), gm. B 45 (A,
46. (A),  47.(C), 48 (DY \497 (D), 50. (C).
51. (A).  52.(A). $1 (A 54, a). 55 (D).
56. (C).  57.(A). _\58,\D), 59.(B). 60 (B).
61.(C).  62. (DANN63. (D). 64. (). 65, (D).
66. (B). 61NA) 68. (B),  69. (C).  70. (A),
71. (B), "NJ12¥(0). 73.(C).  74. (D), 75, (O).
76. (C).  77.(C).. 78 (B).  79.(B), 80. (A). -
81. (C). 82. (D).  83. (A). 84 (A),  85. (B).
86. (B), 87.(C).  88.(C). 89 (A), 9. (B).

[ 91. (A).  92.(B).  93.(B). 94.(A), 95. (B).
96. (C).  97.(C),  98.(A), -.99. (B), 100. (B).




